Secondary 11l 7-2 HW Name: W

v

Asymptotes of Rational Functions

State the domain using interval notation. For any x-value excluded from the domain, state
whether the graph has a vertical asymptote or a “hole” at that x-value. Use a graphing calculator
to check your answer.
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Find any holes, asymptotes, and intercepts and state the end behavior. VA x=3
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Sketch the graph of the given rational function. Also state the function’s domain and range
using interval notation. Find any x and y intercepts, state the end behavior, and behavior

around the asymptotes. ——:’_Q__-_._I_@_“'___.
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Y - intercept: (0, Vo)
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Domain: (-' 2, "2)0("2, ) U(\.oo)
Range: (- ==, DU (1,%73)V (%73, o)

X - intercept: t' 3' o)
Y - intercept: (o, #%2)
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Domain: (- <, -Z) U(—Z) 2OV (z,)
Range: (.. o ~3)V (——3}"3/2) J ('Za

X - intercept: (O, 0)

Y - intercept: (0, 0)

V Asymptote: X =—2
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Domain: (-'ao/ -2)V(-2, "")
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